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1. (9 pts) Find the equation of the line passing through (2,-3) and perpendicular to the line
y=2r+05.
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2. (9 pts) Find all z satisfying |z — 3| — |z — 1| = 2
X2 2 ()(*5)— (x=1)= 2 = -2 =2 No solution.
1sx<2z —(x=3)-x-11=2=> -2x+44=9 = x=1
x<i X 3) (“(X" }“‘25 2= 2 m +he Wmi:&% {953 Jrfr\qnj

("00} i]

3. (9 pts) Write the complex number (2% — §21%)(1 £ 4) 4 (2 — 44) _2~ - in the standard

form, i.e. a4+ bi.
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4. (9 pts) Find three consecutive even integers so that the first phus twice the second is twice
the third.

N, n+2; n+4
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5. (9 pts) Find the set of solutions to the inequality %ﬁé <0
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6. (9 pts) Let the points A=(5,—2) and B=(1,4) on the circle C. If |AB| is equal to the
diameter(ap), then fnd the standard equation of the circle C.
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7. (9 pis) Divide P(z) = 3z* + 22> — 4 by D(z) = z*> + z and find the quotient and the

remainder.

X +Ax* -4 | xP+X
_ 3x#3x3 3x*-3x+5

-3+ 03-4 Qx)=3x 23 + 5
— 3% 3>< R(x)= — [ 4
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8. (2z5=10 pts) Let f(z) = 3z + 2, g(z) = 3::3 and h(z) = 4+ z. Compute the

following values, if defined.

(f +9)(1) <
(fog)(3) 8
(9°9)(=3) [Nt Definod
(goho Y1) || 2
(g0 (£))(0) 4

9. (5+5=10 pts) Given f(z) =22+ 42— 1
(a) Find a, h, k so that f(z) =a{z+h)2+k

Ixztlix-1= 2 (xZ+2x+1-1)~1

=2 (xx)"3
a=2 h=1 =-3
(b) Use (a) to compute f~(z)

) 4= 2"+l |=2 (x41)>3

9) X = 2(5+%}2‘3

3] x+3 =2 (yt))” ) =7\ -
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10. (12 pts) The graph of f(x} is given below. Graph g(z} =1—2f(z+ 2) in the blank grid.
Show individual steps of the transformation of the graph of f(x) to the graph of g(z).
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11. (5 pts) Describe a function g(z) in terms of f(z) if the graph of g is obtained by reflecting
the graph of f with respect to y = z line first and then shifting 3 units down.
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